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Johanna is well-informed about genetics which
is also called Mendelism. She is very - - - - on this
scientific discipline.

A) knowledgeable

B) memorable

C) predictable

D) sustainable

E) favorable

| went on a trip to New Zealand on my last holiday. |
visited Milford Sound. | think it is - - - - Bay of Islands
located in the same country.

A) more attractively

B) the most attractive

C) the least attractive

D) as incredibly attractive as

E) much more attractive place

| am going to move to England next month. Happily, |
am - - - than ever to you.

A) closer

B) closing

C) most close

D) more close

E) more closing

Olgme, Degerlendirme ve Sinav Hizmetleri Genel Miid(irlii§ii

MEB 2018 - 2019

4,

Elizabeth never tells the truth whereas Julia is a
reliable person, so - - - -,

A) they have similar personalities

B) Elizabeth loves people very much

C) Elizabeth is more polite than Julia

D) Julia is more honest than Elizabeth

E) Elizabeth is more talkative than Julia

Christopher : Ann likes pets, but Alan dislikes them.

Lauren : You mean that they - - - -.

A) will adopt a pet

B) have some similar interests

C) may behave badly towards animals
D) have to recognize the animal rights
E) differ in their attitudes towards pets

Jacob : Are you free on Wednesday?

Larissa :I"'m sorry, | am not. | have an appointment
with my life coach.

Jacob : Why do you need to see a life coach?

Larissa ----

A) | need to talk you for two reasons

B) That's why | have decided to see the doctor

C) Because being too busy may kill your inspiration
)

D) The real reason for my depression is your rudeness
to me

E) Because | want to set right goals and overcome
challenges in life

http://odsgm.meb.gov.tr/kurslar/
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| Answer the question 7- 9. according to the text below. Answer the question 10 - 12. according to the dialogue
... On Friday, 11 th December, 2016, a man arrived in below.
the village. It was late in the evening. He was looking for Jeremy :l think you are - - - - (10) interested in
somewhere to stay the night and knocked at a door. A learning English by reading books than
gray haired and tall woman opened it. Matthew.
‘Good evening, Are there any rooms in this hotel? | want Elisabeth : Yes, | am. | believe that the - - - - (11) way
to stay here tonight to see your village tomorrow.’ said the to learn new vocabulary is to meet them in
man. The woman shouted in anger and said: ‘No, there the context.
isn’'t.” He was very polite. He was slim and had brown hair. Loorena :| completely agree with you, Elisabeth.
And he had strange hazel eyes . . . : .
Meeting new vocabularyin the contexts and
using them in various conversations is
- - --(12) just memorizing.

=)
(=)
S
7. What can be understood about the man? 3 10.
S
A) The woman’ s rudeness makes him upset. % A) well
B) He stays at a hotel on Friday, 11th December,2016. é B) more
C) He comes across a hotel and feels lucky at that moment. 5 C) much
D) He reveals a strange village people didn’'t know before. °§ D) better
E) Unlike the woman, the man has good manners towards = E) worse
her. g
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8. Which question is NOT answered in the text? ﬁ 1.
g
A) What was he like? g A) best
B) What was she like? . B) well
C) Why did the woman refuse him? . C) worse
D) What did the old woman look like? S D) as good as
E) Why did the man want to stay at that hotel? 0‘3 E) more good
%
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9. What can be understood about the woman in the 12.
text? A) more effectiver than
A) She was a rude woman. B) more effective than
B) She wanted him to help. C) most effective way
C) She thought he is very strange man. D) effectiver than
D) She was the owner of the hotel. E) effective than
E) She helped him with a good mannerism.
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